/qﬁmmaﬁ%sﬁrm?ﬁﬁqﬁm (et 5 oY), Tt 2023

G 3h. )
= A

m|tF[m
TR . -1 b s AP
G : 11:00 9 12:30 HIETH |§'§'| Wi
TR T 2 150 AW WTHT & Ut TB:32

I T A | Ugel AT et {5 e et it sagEes ug

(1) 38 9999 & &t 91 8| fe| @ 91 - 18 gy o faw @ g@eféa 19 25 i 9w 11§ wifvrg
forwar & weiferd 26 @ 75 999 @ ¢ E| @l 75 9 BA BT A 2|

(2) IAH I 2 37 %+ AT B

(3) U9 A B o T A 90 fire w1 o feam S|

(4) I  foTC Toas TR & ST | TAeh T AT o G- 91 faehed & 70 pAHER Jeed
faw mu §) il & @t S - forerew % e 1 A9 oy T SereongER W
3E. Y9 3. 6 1 el I fIhed . 2 8, a1 AT U AR I W)
T 5. 6 COOD

(5) e el U Serer o AgER Sifhd fohT U SR TR @ TRy SR 39 TR SifeRd fohT T aw
F IR H I 3 w1 D OO

(6) TH T  TIC T ¥ Afeeh ST § I 3Afhd fohdl T, TIgTiehd fohdl T 3T 1 HoATeh a1
fepam U

(7) U 9N 3Afehd FoRT TTT IT Q&R G &1 ST Fehdl |

(8) forepe & IR 3iferd T & TTU Shaet et 3 it TT o icau= o1 & &0t hi| U8 @ 3ifeha
I Tt TE fohr S|

(9) TYUA % T g8 & 1= 3R 31w 8 W H= &M (Rough work) & T @reft 518 7, 9@ s
%M (Rough work) |

(10) uwfier st srafer wifed g o ST Afg foRet I9 T I ATeh! T&l Ul &1 1 AT o T & Hi
3q H THY F=q W IE T TAT o T I T R

(11) Foreht e & Ffe/Terdht ftctfara g9 W w=iaeres =1 qdie shg derers o foem fomst a1 =)

(12) W= § e /7rercht /38eh dae § oe former™ steran stfirvmaehi gra avg Rreromfeeert = freroretfespit
= e foifed &9 # 7 9o etd fRned & diE ¥ AT 9gid 9 8 9el|

(13) e/t /zues ey § e st ufgd @ 99 it srafer wen uftvg & o wom @ st
(erErft) I Tt & Uftd B9 | AR 10 (ew) T o @it

(14) U1 QY AT 3= HROT & T Terd IRerferd g+ T s afifa o fHofmgar o swrfardt 6 Sef

(15) Hat wreaw o Ty S wrar 7 off sodas fem mn 31 gt mrewm & wigy yei & fore oy gd|
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fawmT - 1
fedt

T ®. 01 | 03 & forg g
frafafeq d gl & gEfd & IR W YAw 9 § fad T % fog

3faa weg g

01. forEm T %M w2
(1) =t (2) A
(3) HREH (4) @a
02. TSt I FW ¥ frm qawE e TR
(1) Fa 2)
3) W@ (4) ST
03. fgacm™ w T Bl
(1) <= (2) WA <N
(3) SmH (4) wREn
04. 9 feu T vy § @ Tod W@ YgETEQ|
(1) for-wen 2) TH-%A
(3) Hei-=d (4) STA-aH
05. = fou U wegi H foeguneff IE wgEw
() f x feam (2) HAG X THA
(3) TR X WEN (4) F=1 x =
TF & 3d T
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06. 3THfd % w@e ¥ fogd Tom H HAE 99 W W wdqu weg ST wgEmu)
T
(1) « 2 v
3) ¥ 4) T
07. T H TH Fd AER 7; A gEu o H
(1 W 2) 59
(3) W (4) T
08. T TIM W I AEEe g M|
SE:- TRl % "Wg Wl wed &8l
(1) e (2) usS
(3) et (4) @™
09. = U TN ITEHEEH Weq UGAMHR I IR I
e H @A g
(1) &t (2) T=EA
(3) e (4) @A
10. F= fou 7TU Seg % AUHH & IHER fof@d W UEW U I
A gt ﬂ'ﬁ?:—
(1) TUEH ) fus
(3) & (4) Uk
TF 1 g TAH
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1. = fiu T wsg & 3 Iw Fd FaHa @iE geu-

fa &1 e fegw g @, @ <9 w3
(1) e (2)

(3) X (4)

12. T& feag = w9m@m Smar 87

() 1 =8 ) 30 =

(3) 21 34 (4) 14 fd=
13. ‘GeH I8 hrey fohad fomam 27

(1) =HHAS (2) WERd ui

(3) SRwft (4) AR TEG

9T . 14 § 16 & forw gemT:-

frafafeq afiese #1 eIFYds dg I8 MU SeAi o TEl 99 ged|

TATTSH IS o @ | 3 fedi gf@mon | bl agq Bt
AR g5 offl Somsll % diq-uid Mt SR deEl ol diewen WSS e
IEd o1l 9 gHI Sfedl UIEITAT dol U dESlid Uoleehl R Bfqull  Terdeh!
AaTet offl dasd q gEml ¥ e, o R il Sl R oud M,
IR Wicdl, 39ehl UewTAl H A dISeh 3cEd o1 AW o Sedl oA
|

TF & 3d T
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14. SAUHSH $al & @Add 97
(1) 4= (2) IaTICH
(3) WEWIY (4) HeTIGH

15. giEmnm 8 F i g5 ofi?
(1) et (2) et
(3) wom (4) BATeE

16. forahl urgsmen 4 aiffes Icgg o1?
(1) Hasia 3N faree (2) TATE SR A
(3) MU 3[R A (4) TR AR AE

T . 17 ® 19 & forw geAn-
= & T Ffaa w Tgw @ M Il & W fafEw

HE Bell & qu oa= |
Hid o oft gEeeEr ||
@l sFd @ S T8 |
A TH gl T )
HEr qfeE iR -9,
T4 M dgd S|
IR AHd A W A,
Ff T8 W\ § g ||

TF 1 g TAH
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17. %ai ¥ §=1 4 9 H@E A
(1) wial ¥ Hoy (2) Hid H o gEHM
(3) I W Tad BT (4) HIA B Gl
18. Ia ¥ w1 H@ar =AnEe?
(1) HESMI =Ry (2) M Fgd ST =AM
(3) AYL TH =l T (4) wfafer foeamn =t
19. foroh T@ o wed T 27
(1) 9a9 &I & (2) dqAE HI A&
(3) T IR wAqRN I g (4) Afe I T h AR
20. ‘foRdT Weg I AN Ieq UG-
(1) fopemsr (2) foparst
(3) feparferat (4) <hidr
21, H [oRg W F| 39 9@ H HMET A GuE T R?
(1) Yder (2) wfasTeTa
(3) dduTH (4) W A
TF & 3d T
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22.

EESERIENISIC i
S e § fee form fogg &1 w@m gem R

(1) g (2) redferm

(3) sreufa (4) oi-femmfore
23. = fou T oweg W wMET MUl Yo oY

3t

(1) =4 (2) dH

(3) 9™ (4) =E
24, = fou T oggEeR % A d w1 @@ Wi gHu?

I § TH T

(1) wEI™ HE (2) IR HET

(3) G UWME & (4) AR TS
25. I gAE YA wEEd quf |

o fomm)
(1) Tk 3™ (2) T IR
(3) Th T (4) dR wEE
TF & 3d T
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26.

27.

28.

SECTION - II

MATHEMATICS
In the given figure how many vertices are there?

(1) 38 2) 9
(3) 10 4) 7

65 kg 500 gm of sweets were brought by an Institute for school students.
If 60 kg 200 gm of sweets were distributed among the students how much
sweets are left?

(1) 5 kg 200 gm (2) 5 kg 100 gm
(3) 5 kg 400 gm (4) 5 kg 300 gm

In a circle, radius is 2 cm and length of a chord is 3 cm. What is the length
of longest chord of a circle?

(1) 5 cm (2) 6 cm
(3) 2 cm (4) 4 cm

SPACE FOR ROUGH WORK
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favm - 11
T

26. T T ABA H TRad Mg @?
(1) 8 2 9
(3) 10 4 7
27. Us weyn fomerm o fEnfdei @ @@ % fow 65 fRmm 500 um e«
EH ¥ 60 fem 200 um fierE «fd W, @ fhadt feR v w=h?
(1) 5 T 200 7™ (2) 5 T 100 7™
(3) 5 TR 400 7w 4) 5 fem 300 7m
28. gca i B 2 @t B ws SfEm 3 & R, A ged kI Ged S S H
dars ferat @l Bt ?
(1) 5 o (2) 6 o
(3) 2 aHt (4) 4 ot
TF & 3d T
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29.

30.

31.

32.

33.

Which of the following mathematical expression has maximum value?
(1) 10 -3 x3 2) 10 x3+3
3) 10 + 3 +3) 4 3 x3+10

A rectangular room of length 10m and breadth 8m is tiled. What is the cost
of tilling at the rate of I 30 per sqm?

(1) T 2400 (2) T 2200
(3) % 2000 4) 80

A decimal fraction 0.17 cannot be written in which of the following way.
17 10 7

(D 100 ) 100 T 100
10+7 7
3) Foo (4 10+ 150

Select the correct option

(1) Selling price — Cost price = Profit
(2) Cost price + Selling price = Loss
(3) Selling price — Loss = Cost price

(4) Cost price — Profit = Selling price

3, 0,5 7,9, 1 use each digit only once to obtain largest 6 digit odd number.
(1) 975310 (2) 105793
(3) 975301 (4) 973501

SPACE FOR ROUGH WORK
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29. T # @ fpH =S H Hod AU g7
(1) 10 - 3 x 3 2) 10 x 3 + 3
3) 10 + (3 + 3) 4 3 x 3 +10
30. TUh ITAAERR Hal hl oars 10 W qur =g 8§ W Bl I HET H OB
foem & fau wh ot et & 30 T % @ @ R weigh ft ERfte
(1) 2400 T (2) 2200 T
(3) 2000 T 4) 80 T
3. 0.17 39 <vmed = & 5 R @ foar Smome?
10 . 7
M 1o @ 105+t
10+7 7
3) 100 @) 10+ 195
32. = @i § @ w-E wed " g?
(1) Toshd Hed — d oI = o
(2) I I + faea e = g
@) fopa gm0 — wf = F7 7=
(4) 3 qA — A = faskd g
33 3,0,5, 7,9, 1 30 ¥ YIh 37 1 Tk & g1 3T Hlh D8 IHehlaradl
oy w<l fowm weEn dum =)
(1) 975310 (2) 105793
(3) 975301 (4) 973501
TF 1 g TAH
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34, 6 hrs 40 min + 2 hrs 35 min = ?
(1) 8 hrs 40 min (2) 8 hrs 15 min
(3) 5 hrs 5 min (4) 9 hrs 15 min

35. What is the percentage of shaded portion in the given figure?

(1) 50% Q) 75%
(3) 25% 4) 85%

36. Chandu typed at the speed of N words per hour for 5 hours and Ali typed at
the speed of M words per hour for 6 hours. Total how many words did both
of them type?

(1) 5N x 6M 2) 6M - 5N
(3) 5M x 6N 4) 5N + 6M

37. In a milk collection centre there are 300 bags of 1 litre each and 600 bags of
500 ml each. If 560 litres of milk is distributed then how much milk is left?

(1) 40 litre (2) 50 litre
(3) 500 litre (4) 30 litre

SPACE FOR ROUGH WORK
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34. 6 ®war 40 fe + 2 "er 35 fide = feamn?
(1) 8 = 40 fie (2) 8 @a 15 fie
(3) 5 ®a 5 fae 4) 9 =1 15 fime

35. T omafa & omifea wm w1 wfiwd @@ w0

(1) 50% 2) 75%
3) 25% 4) 85%
36. ¥l UH uS H @ A W WBR S " AU HefH UTh wWS H H AW W

YR 6 T Tha@d fRAl, @ g 4 pA A fRad et w1 IeharEd
fopa?

(1) 59 x69 2 67 —5&

3) ST X6 & 4 S &+6

37. Uh qu Sl H 1 Wi K 300 Al dunr 500 faefiefier #1600 At
fil 38 fa 560 <l gg afer m, @ Foa Fha g W =7

(1) 40 <fi (2) 50 wfex
(3) 500 wftex (4) 30 wfeX
T wE TG U
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38. Javed purchased 10 boxes of Mangoes at the rate of ¥ 3000 each. After some
days Mangoes got spoiled so he sold them at I 1200 per box. What is the
percentage of loss he got?

(1) 40% 2) 60%
(3) 50% 4) 70%

39. Arrange the following in descending order. Find the difference between the
second last and fourth last number. Which digit will occur at the tens place
in this difference?

40273, 41237, 41260, 42106, 41238
(1) 4 2 3
() 2 4 9

40. 2 gross papers out of 2 rim of papers is used for printing, how many dozen
papers are left?

(1) 672 (2) 56
(3) 66 (4) 288

41. Select the correct statement.
(1) Smallest divisor of 15 is 3.
(2) Only three divisors of 18 are even numbers.
(3) Any prime number has more than 2 divisors.

(4) Number of divisors is unlimited.

SPACE FOR ROUGH WORK
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38.

39.

40.

41.

Saed 3000 ¥ K TH W YRR AW A 10 ufew @il Fpw @ ame
U W $S AWM WUE W b HRU 1200 T H UH 3@ YR At ufext
o<fl, dI 39 o¥aer H 3IW foadt ufasa i B gR 7

(1) 40% 2) 60%
(3) 50% @) 70%

= "en "ed #u H for@ll 31 ¥ gEl qur 1Y A W AHeTe HeAsi
H AWM AW HHA W @ TAH W HH-ET Ik SR 7

40273, 41237, 41260, 42106, 41238
(1 4 2 3
) 2 4 9

A 09 s B W @ WE SIS BUE % T SUEm fey, a fead @S
HS AT 7

(1) 672 (2) 56
(3) 66 (4) 288

7 4 9 aF-u % " 3|

(1) 15 &1 g8 Bl fauses =9 2|

2) 18 & =ff o # @ FHaa dF faus THEE R
() fret ft s wem & @ 7 e favyes B9 R
(4) fawmen i dew R 9@ g R

T wE TG U
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42. Arrange the multiples of 41 in ascending order. Which is the fourth even

number in this set?
(1) 328 (2) 164

(3) 410 (4) 246

43. What is the perimetre of the given figure, when length of each square is

1.5 cm?
(1) 15 cm (2) 9 cm
3) 39 cm (4) 36 cm

44, How many one digit and two digit square numbers contain 1, 6 and 9 at any

place?
(1) 6 @) 9
3) 7 “4) 38

45. What is the simple interest on ¥ 3000 at the rate of 10 p.c.p.a for 3 years?

(1) 300 2) T 600

(3) X 800 4) T 900

SPACE FOR ROUGH WORK
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42. 41 ¥ fousw @9 @0 v&d HA ¥ @ W =Y TWHE W AW 99
& HIA-E B ?
(1) 328 (2) 164
(3) 410 (4) 246
43. T omHfa # yRe i h gen 1.5 Wl gf, 91 3| AR hI R
fopat Brfie
(1) 15 o (2) 9 o
(3) 39 @i 4) 36 o
44. 1, 6 qA 9 A A% TREi ft WM W FH W TH Awawdl AR T FAbETA!
A ot arfEEaTd o ?
(1 6 2 9
(3 7 4 8
45. 10 I.W.9.9. I @ ¥ 3000 FGA KT 3 TN Kl HIUNU SIS {ohadT BAI?
(1) 300 ®9 (2) 600 ¥
(3) 800 ®w 4) 900 T
TF & 3d T
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46.

47.

48.

Which of the following indicates different fraction formed by shaded portion?

(1)

HE
7

If an article of ¥ 1000 is sold at 30% profit then how many rupees profit is

2)

(4)

gained in the transaction?
(1) X 1030 (2) X 150
(3) < 300 (4) X 1300

Lokesh and Roshan are working in a same company. Roshan received salary
of rupees Fifteen and half thousand for 1 month and Lokesh received salary
of rupees quarter to Eighteen thousand for same month. Salary of Lokesh is
more by how much than Roshan’s salary?

(1) Quarter and two thousand rupees.

(2) Two thousand and fifty rupees.

(3) Twenty two hundred rupees.

(4) Twenty three and half hundred rupees.

SPACE FOR ROUGH WORK
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46. T o ¥ FH-H AH w DA WE @ U= o g 27

(M

“E
7

)

4

47. 1000 ¥ H TXG 30% qH AR =, A I fhad T w @ gam?

(1) 1030 ®w (2) 150 T4
(3) 300 w9 4) 1300 TR

48. I IR UIH THh HI1 H M Hld I| UIH hl Teh ARG H dad GTSUE
FAX 3TN by ol U 33U TR ®9F e, d 39 i AlRY Wl

v & fp w03 atfaes daw firenn?
() ¥ T TR TH>

2) ¥ TR T=E T

(3) =& €@ T

(4) ¢ ds9 " TR

T HE 3G AN
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49.

Height of two pillars is 117 ¢cm and 105 cm respectively. What is the height

of the pillar formed by joining these two pillars?
(1) 2.22 mm (2) 222 m
(3) 222 cm 4) 222 m

Note for Question 50 and 51.

50.

S1.

Answer the following questions on the basis of pictographical information given

below. Pictograph indicates the number of students learning to play musical

instruments.

Instrument Number of students

L CICIGIGIGI®
Harmonium | () () ()

Flute ) L)

o 00000

Scale : 1 picture = 10 students

Total how many students are learning to play musical instrument?
(1) 150 (2) 160
(3) 140 (4) 130

Which instrument is learnt by least number of students?
(1) Flute (2) Guitar
(3) Tabla (4) Harmonium

SPACE FOR ROUGH WORK
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49. @ @ H = wEw: 117 FW R 105 T R AR q wWH THGW I
MR Th @ RR R 9w, @ 37 @ f a9 fhad @nfie

(1) 2.22 fosht () 222
(3) 2.22 @ (4) 2.22

9T . 50 3R 51 & forw geAm:-

= fooee & R W Ul % Icr for@n|
qreg e foenedfal 1 swn o W oR)

T HrgAaTe ferenefiat i @@
(0 )OO0 Q)
aitem () () (1)

s () ()

e (0 () () L) )

YamET ¢ 1 fom = 10 foremeff

50. P fhad faeneff aew @@ w® R7?
(1) 150 (2) 160
(3) 140 4) 130

51. <hi-9 dieg o9 a1 foeneff =5 87

(1) =gl ) fier
(3) deel (4) gHEIm
TF 1 g TAH
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52.

53.

54.

5S.

56.

Nikhil purchased three chocobars from a shop. He paid ¥ 50 to the shopkeeper
and got ¥ 5 back from him. What is the cost of each chocobar?

(1) Y20 2) T 10
3) T 12 “4) T 15

Jay purchased an old bike at ¥ 17000 and after 2 months he sold it at
% 15000. How much is the loss in this transaction?

(1) % 2000 2) T 4000
(3) T 3200 4) T 5000

From the given set how many numbers are not completely divisible by 2?
162, 131, 890, 772, 245

(1) Three (2) Four

(3) Two (4) One

Which number should be subtracted from quarter to twenty six thousand to
obtain 4 digit smallest even number?

(1) 25750 (2) 24750
(3) 27450 4) 26750

If in the year 2010 Republic Day occured on Tuesday then in the same year
Teacher’s Day occured on which day?

(1) Sunday (2) Saturday
(3) Monday (4) Friday

SPACE FOR ROUGH WORK
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52. fifge @M <R @lig) geMER H SO ¥ H A W h aIE IH GHHEH
9fE ¥ TR, d Th WRER H Jod fohddl FM?
(1) 20 ®73 2) 10 T
3) 12 @) 15 =@
53. S QU HewEmEfea 17000 T W wlew o miEl % &g 15000 w9t
T 99 @, @ W ad-o7 # 38 fea wwE A omif e
(1) 2000 &9 (2) 4000 T
(3) 3200 T (4) 5000 ®F@
54. 162, 131, 890, 772, 245 39 T&I H © fohadt wemsti & 2 ¥ 439
OAT 8l S ?
(1) (2) =X
(3) @ (4) Th
55. ‘U9 Desl¥ AR 39 &I H 9 HH-H1 ¥& 9¢H W He9 B IR
AhiaTcd! graE fuerfi ?
(1) 25750 (2) 24750
(3) 27450 4) 26750
56. T 2010 ® TUrqd fea@ W & fog B, @ 3EHi o6 T feaw wH-w
&1 smume
(1) TeEm ) wfER
(3) GHaR (4) IEHAR
T wE TG U
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57.

S8.

59.

60.

61.

Sanjeev deposited certain amount at the rate 5 p.c.p.a. for 3 years in a bank.
He received simple interest of I 1500 after 3 years. How much amount did
he deposit in the bank?

(1) % 11500 2) % 10000
(3) T 4500 4) T 5000

Which of the following numbers do not occur at unit place in the prime
numbers from 10 to 100?

1 1,3, 7 2) 9,7, 3
(3) 5,2 4 4 1,3, 9

Each angle of a rectangle is
(1) Acute angle (2) Right angle

(3) Obtuse angle (4) Linear angle

Quarter to nine litre means how much millilitre?
(1) 8750 ml (2) 9750 ml
(3) 8250 ml (4) 8550 ml

Select the correct option to indicate the number ‘Seven lakhs seven thousand
seven hundred and seven’ in figures.

(1) 770707 Q) 77777
(3) 707707 4) 707070

SPACE FOR ROUGH WORK
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57. @Sfted $B UM IWFF S H @ ¥ 3 9 & fau &% § wih| 9w
& o 3 1500 T HYURY o W, @ 394 fhat Uyt S O &t oft?
(1) 11500 *9 (2) 10000 ®9
(3) 4500 T (4) 5000 T
58. 10 ¥ 100 de TSN T AN IS TEARA 6 IhE H W = T
¥ -8 FH TE MY
1 1, 3, 7 2 9, 7, 3
3) 5 2, 4 @ 1, 3,9
59. SAFd H TUA® R gl gl
(1) I (2) =
(3) 3ferss I (4) Sfdqadieior
60. W9 Tt cfter Uia fepad faferefien?
(1) 8750 fireft (2) 9750 foreht
(3) 8250 fureft (4) 8550 fureft
6. ‘U9 9@ U &R W9 G dd IE & JAhl § HE faEne?
(1) 770707 ) 77777
(3) 707707 (4) 707070
TF & 3d T
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62.

63.

64.

65.

66.

Identify the pattern and select the correct number to fill the blank box.

5 7 10

22

33 | 46

(1) 5
3) 10

2) 17
@) 15

Select the correct option which indicates the ascending order of fractions.

5 4 1 11
M 5 66 6
5 1 6 17
3 5 66 6

17
> 6

11
© 6

[E—

225 x 72 = |:| select the correct option.

(1) 16200
(3) 1650

1 5 6
2 ¢ 6 6
1 5 6
@ 6 6 6
Q) 2250
4) 22500

1117
6° 6
17 11
6° 6

When two cubes are joined to form a cuboid then the number of edges are
more than number of surfaces by how much?

(1) More by 2

(3) More by 8

(1) 4
3) 3

Select the correct option to replace the box. % + g
2

(2) More by 3

(4) More by 6

SPACE FOR ROUGH WORK
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62. = oTpfdey dE fad ToH # el e o
507 |10 22 | 33 | 46
(1) 5 2) 17
(3) 10 4) 15
63. THfflgd wall § & M= 1 9gd %A § T TR g w8l W™
HE-HT 87
5 4 1 11 17 1 5 6 11 17
M % 66 676 @ 6 6666
5 1 6 17 11 1 5 6 17 11
@ 6 66 67 6 @ 6 66 67 6
64. 225 x 72 = [ | ®oh H AWl e w@Ei o6 " <l
(1) 16200 (2) 2250
(3) 1650 (4) 22500
65. QI Tl Teh ThgE § Sed W HiHd e GfdE etefa % wRi I
T Yl hl wed § fohal aifeR gelt?
(1) 2 @ 2% (2) 3 @ At
(3) 8 & 3AfH 4) 6 ¥ 3w
66. % - % = 2—3 HIsesh H WA & TR W O" Tl
(1) 4 2) 2
3) 3 4 5
TF 1 g TAH
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67.

68.

69.

70.

71.

30% of 60 = ?
(1) 9 2) 90
3) 30 4) 18

Last year 427523 students of std. 5™ and 238249 of std. 8™ appeared for
scholarship examination. Total how many students appeared for the examination.

(1) 662757 2) 665772
3) 662752 4) 667527
Solve

2 . 4 5 13 . 2
(5+75* 100 +1600) — (2+10* 00 *1900) =L
(1) 3.003 2) 3.005
3) 3.113 @) 3.004

Riya purchased two and quarter metre of white cloth and two and three quarter
metre of blue cloth to stitch a uniform. Total how much cloth did she purchase?

(1) 5 metre (2) 4.15 metre

(3) 4.95 metre (4) 5.10 metre

3000 is divided by which number to get the quotient as 85 and remainder as 25?
(1) 45 2) 25

(3) 55 4) 35

SPACE FOR ROUGH WORK
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67. 60 & 30% = ferar?
H 9 (2) 90
(3) 30 4) 18
68. TUBd Iy RMregett whem & U wem uiwel W 427523 fommeff qenm ekem
et & 238249 fommeff o3 9, @ P fobad fommeff whenm & faw 3 97
(1) 662757 (2) 665772
(3) 662752 (4) 667527
69. gk H I HEA foEn|
2, 4 5 1., 3 2
(5+15+100 * 1600) — (2+10* 100 *000) = |
(1) 3.003 (2) 3.005
(3) 3.113 (4) 3.004
70. fEm mEw ffem % fdu "ewr @ Wi "he dur 9 W e diw W@
H1 HIST @G, ql A A fhad Hiel HAST @lar?
(1) 5 ¥R (2) 4.15 "X
(3) 4.95 HiX (4) 5.10 "X
71. 3000 3H HEAH HHE-H HE ¥ W o W HTTHA Tl 9O AT
Iy @me?
(1) 45 (2) 25
(3) 55 (4) 35
TF & 3d T
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72.  Suhas participated in a motorbike ride competition of 60 km. He covered the
distance with the speed 15 km/hr. If he started at 10:15 am. then at what time
will he reach the destination.

(1) 14:15

(3) 14:30

73.  Solve

70602 + [

(1) 22823

(3) 21720

2) 12:15

4) 13:00

= 92328

2) 21726

4) 27612

74. 12 dozen notebooks are packed in one bundle. If the thickness of each notebook

is 5 mm then what is the height of the bundle in cm?

(1) 72 em

(3) 720 deci metre

75.

(1) 15 3

(3) 15 5

(2) 720 mm

(4) 720 m

Convert the improper fraction 42_7 into mixed fraction.

@ 3 &

2
@) 15 %

SPACE FOR ROUGH WORK
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72.  gEEd 60 TRl R QU wH H AicwmEtea wal # 9w o 3§ a7
AW 15 Trlt wid = i T ® QU fREml Afe 3@ I8 wai geg 10.15
g9 & o, d1 o8 ffvad ToH W fhad &9 wgen Bem?

(1) 14.15 s (2) 12.15 =
(3) 1430 & (4) 13.00 &t

73. 70602 + [ | = 92328 ®W I, o H hH-Hl weA SAwHi?
(1) 22823 (2) 21726
(3) 21720 (4) 27612

74. 12 T KA & TH TSI S| Th & ki I S e B, @ swrfv
% T3S H I3 foRat wl BEMT?

(1) 72 uf (2) 720 foft
(3) 720 S @) 720 H@
75. 4L w = w1 fay e d evioor wes sfi wfr gf
4 2
1 15 3 @ 3 {3
3 2
3 15 5 “ 15 5
TF & 3d T
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